
©X G2[0]2[0R cKLuTtkaX nSLogfTtMwhatrTea zLgLOC^.O v OAblJlF br^ijg]h]tIsh arVeesgeNrUvSe_dN.x M EMoaWdGea swxiXtwhr MIDn\fFiAnyixtSep qAflQgqelbQr]az r1X.

Worksheet by Kuta Software LLC
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Practice for Polynomials Quiz
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Name each polynomial by degree and number of terms.

1)  -9 2)  3x5 - 9x3 + 2x

3)  3n + 3 4)  5n2 - 5n - 9

5)  -8k 6)  -9p3 - 10p2

7)  -5b + 7 8)  8m4 + 3m3

Simplify each expression.

9)  (6m + 6m2 - 4m4) - (4m4 + 6m3 - 5m) 10)  (8 + 3x + 4x3) - (7x3 + 8x - 8x2)

11)  (r + 6 - 8r2) - (7 - 6r2 + 3r) 12)  (7 - 4n3 - 8n4) - (2 + 3n4 + 3n2)

Find each product.

13)  2(6b - 7) 14)  7a(a + 1)
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15)  8b6(4b2 + b + 1) 16)  7n2(2n2 - 2n + 3)

17)  (3k - 3)(5k + 4) 18)  (6x + 4)(5x + 3)

19)  (7r + 7)(6r + 4) 20)  (5p + 6)(4p + 4)

21)  (2m - 5)(7m2 - 2m - 2) 22)  (3r - 8)(8r2 - 4r - 2)

Factor the common factor out of each expression.

23)  9r5 - 2r3 + 2r 24)  50n2 + 10n + 45

25)  -36v3 + 4v2 + 16 26)  2n4 + 2n3 - 12n
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Answers to Practice for Polynomials Quiz (ID: 1)
1)  constant monomial 2)  quintic trinomial 3)  linear binomial 4)  quadratic trinomial
5)  linear monomial 6)  cubic binomial 7)  linear binomial 8)  quartic binomial
9)  -8m4 - 6m3 + 6m2 + 11m 10)  -3x3 + 8x2 - 5x + 8 11)  -2r2 - 2r - 1
12)  -11n4 - 4n3 - 3n2 + 5 13)  12b - 14 14)  7a2 + 7a
15)  32b8 + 8b7 + 8b6 16)  14n4 - 14n3 + 21n2 17)  15k2 - 3k - 12
18)  30x2 + 38x + 12 19)  42r2 + 70r + 28 20)  20p2 + 44p + 24
21)  14m3 - 39m2 + 6m + 10 22)  24r3 - 76r2 + 26r + 16 23)  r(9r4 - 2r2 + 2)
24)  5(10n2 + 2n + 9) 25)  4(-9v3 + v2 + 4) 26)  2n(n3 + n2 - 6)


